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L[z]M &em An] 567 1,020 -453
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LIz]FaE4n 817 4,657 -3,840
L2 §17| 4,657 3,840 5 & THATFCRHA) + 43081+1078+190 817,000
S
2. [Z15289H 1,720 1,920 -200
1.guk4 300 500 -200| B4 AR ETYH] 50,0009 #1563]= 300,000
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1. ¥ E 7944 270 300 =30 |34 R 7] F83H] ¢ 270,000 1F+13] |= 270,000
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SUYFFBRFAAAE ¢ 155,0009%13]= 155,000
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1. g Rk5=8-1) 900 900 01 371ASHAASFE 1 900,000913]= 900,000
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5. HF 4] 2,000 2,000 0| AnE9] ¢ 500,000 4= 2,000,000
3[R 3,240 3,240 0
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2.3 ER 2,040 2,040 0| dstE s ¢ 170,00090 129 = 2,040,000
3. EEEL T 6,168 6,180 -12| A8k F 1 80,0009 +129= 960,000
SHaF 1 2,50090%353]= 88,000
QEYEAIR] © 400,0009 129U = 4,800,000
AN AR ¢ 50,0009 #23]= 100,000
SAEAUNEFE ¢ 10,0009%129= 120,000
H71EH ] FE 0 20,0009#53]= 100,000
2. [N TS 6,440 6,383 57
1. dukg81| 6,440 6,383 57| Al #e]-82u] ¢ 100,000 128 = 1,200,000
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gzlaﬁla}%@.ﬂl(%%) : 120,000 %12 1,440,000
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Wehk7) 3 4891 900,000 #23]= 1,800,000
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Z2gFRSGAH] 1,000,000 #53]= 5,000,000
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PREARIR-RARt) 900 1,200 -300| 3] =H] 1 150,000 %31 #23]= 900,000
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1. [z]3tuA B atA 9 4,812 10,792 -5,980
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